Bt e R R B SR 3:'\'\‘.6}':’x'c‘."\'-.‘:x:{i'a'.‘m'.'{'EZQ’_&-RHK".’ﬁ'ﬂ'ﬁ'ﬁﬁ\’ﬁ?ﬁ]ﬁi‘fﬁ@_‘,{?ﬁﬁf"{;ﬁ&%‘.‘R{ﬁ.ﬁ@ﬁ%’:r‘.i&?}’i»‘-’f?#is'-f&hﬂ-*'f?-'5\-'0'-"‘“'— PN R T e

Quh '
"--—-..____} e Maths ( )6’(' # S-I‘,.I ) C»Lua«,(ft&_, # {Nfo%/ﬂd/ Clasg E
" Fagloize 2 (i) FFC Model School

Q1 ) 2abl - habz o sabd

2ab(c-2x +4d)

SXYdoy—j2x— §
= Y (3x+> )—4 (32— 2)
(’5»(:#2)[':1’”)

ai |
Try— 1229+ 184"

3Y{ 3t ~ 4 1 6j)

—

() 52, L A

e

X 3y7)= 29 (5 3Y)

[*.Jll.) -—lej _3x 4 Q'?(JL
—3x (9 +1-3Y")

= O(f 2.3) (»+3Y")

L(fv}

sab’c? ;balbjc —2e0abc

Sabe (bl —2ab-4a c)
.
('V) '_5),_35 C%"'lv_‘j) «-"7?(.232’(1’3'9)

(:ngj —TxY ”) ( -3 Hi)

WKy (2e—7Y) (%~3"J>

(v¥ 5 %33( X ) A+ 97(_771 w*+5)

= (2’4 OgD) O

ka) .
(2x=9)z 4 = 2v)x

-
= x= r-f;jl"z + Yx—-2Z ¢

Ml S + x*Z~z%kc

—_—
—

oz Y (H=Z) +xZ(x-Z)

(e-z) (Y*+*Z)

-_—

Q3w

14 444 2ua+ |

o » 8
= (12a) + 2 (ra)(V) + LU

—_—

5 )le(‘j + ”-f)(')tl-*'f)

(ygfm-—saj—s‘bz +3by

a(Sx-35) — b (Sn-3¥)

¥ 2,
i) ax e
- —
b g

-

- (57¢-34) (q——é)

=G) ) &)

= (2- _z_»,j‘
b a

Scanned with CamScanner

!


nooru_000
Sticky Note
(a)
Factorization of the Expression of the type
 ka + kb + kc 
Question 1 part (i) to (iv)

nooru_000
Sticky Note
(b)
Factorization of the Expression of the type
 ac + ad + bc + bd
Q 1(v) and (vi)
Q 2(i) to (iv)

nooru_000
Sticky Note
(c)
Factorization of the Expression of the type
 a2 ± 2ab + b2
We know tha
i)  a2 + 2 ab + b2 = ( a + b)2 
(ii) a2 -2 ab + b2 = ( a - b)2 
Q3 all parts

nooru_000
Sticky Note
Factorization: The process of expressing an algebraic expression in terms of its factors is called factorization.
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nooru_000
Sticky Note
(d) Factorization of the Expression of the type a2 – b2
Q4 all prats

nooru_000
Sticky Note
(e) Factorization of the Expression of the type a2 + 2ab + b2 – c2
We know that
a2 + 2ab + b2 - c2 = (a + b)2 - (c)2
= (a + b - c)(a + b + c)
Q5 all parts
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Sticky Note
this is 5.2

nooru_000
Sticky Note
(a) Factorization of the Expression of types      a4 + a2b2 + b4 or a4 + 4b4
Q1 all parts
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Sticky Note
(b) Factorization of the Expression of the type x2 + px + q
Q2  all parts
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Sticky Note

(c) Factorization of the Expression of the type

ax2 + bx+ c,     (a is not zero )
Q3 all parts


T e WA PR R R T e S A L

S — S e

R B e o N S R B P e S R A N O R ST Wl ST A L 5

R A T W T L LR A A e AT R B ST OISR e

Exerese 51

. (DFAW) e+

= (‘a—fl)l—
= (3+2) CVt2)
Now  Reglacs volua st Y

Cs‘x— Lo+2) ( sned 42

@Li W . (Lﬁ-m-»fh) (% sx+¢)-3
W "J'L)“+Srtfj

(y+w Lg+b) 3
UZA‘ 10:),{-'2,\1 -3
g Prociucl
= l‘d -+ H'Qj-—’r'ﬂ W —
Tl =2
& ‘62‘4- Y4 TY 2 B !
R4 7210

= Y (Yy+3) 471 1y4+3)

= (3+U(U*3)
Nowo QBJ?M b‘bu.x.utcntux,fj

(‘?L?'-*Su&"l) ( X% O A+ 3)

() 460

(ML- ux ) xz_n,x =Y =~ 28

At 4= =Y

Procuch’
- (U) QUF‘) - Bb | A(—2e)=~20
’g;?'g/o 5';(:'-1:2,0
= yLgythy-? -s+l4=-1
_ ldC‘d*'S)""qLdﬂr)
; ) LY+h)
- (9 Lo vl

Now Rep lacs ﬁ’“’
49

s <>L”-Hm~fj(%°’—wn_+w)
>
z <Dc2—jx-1-ua—3") L’(-"’ZJ

A (R~F) A1 n—5) ((o««-?.)x]
[

-—
—

o (er—/) (oY) [(n—2)

4 )
C)L+2-)( He3) (x+1) (nt+5) — )X
-

er\-L)(k*J‘)(;l('%'S)(fl*‘f) — /5
(%1’4 st ey (Bt a) ~

N Qu{;fm \a = =R

(\dﬂv(ij—plg_)._ ) T m

yX 13 =)oy |
- 51_'* 2 Y A i (5472 JoF|
M 4212y 108 -:

7(!;;4-!.1‘) 5

2 Ylyr) *
= ‘j+lf)(ﬂ +7)

( e
C ooty 4 1570 T ! E

Scanned with CamScanner


nooru_000
Sticky Note
(d) Factorization of the following types of Expressions(ax2 + bx + c) (ax2 + bx + d) + k
(x + a)(x + b)(x + c)(x + d) + k
(x + a) (x + b) (x + c) (x + d) + kx2
Q4 all parts
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Sticky Note
(e) Factorization of Expressions of the following Types
a3 + 3a2b + 3ab2 + b3
a3 – 3a2b + 3ab2 – b3
Q5 all parts
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Sticky Note
(f) Factorization of Expressions of the following types a3 ± b3
Q6 all parts 
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Sticky Note

Remainder theorem: if a polynomialp(x)is divided by linear divisor(x-a)  , then the remainder is p(a) .
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Factor theorem: the polynomial (x-a)  is a factor of polynomial p(x)  if and only if  p(a) =0.
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